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are logically equivalent (they have the same truth value)

are logically equivalent (they have the same truth value)

is a mamma.] then it has hair. p o 00.
Wﬂn animal is a dog, then itis a mammal. —»p
" jecture: If an animal is a dog, then it has hair. - %_ X MOT TRUE

“Law of Detachment: (¢ P=7q 15 TRUE AMD P IS TRUE, THER & IS TRue,

Given: If you are tardy 3 times, you must go to detention. P4
i Shea is in detention, &

Conjecture: Shea was tardy at least 3 times. | P )< ’ NOT TRUE
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D |F TWO ANGLES ARE SUPPLEMENT ALY TD THE SAME ANGLE,
“"@ n}:acés ARE (CoN GRUENT.
ALL RIGHT ANGLES ARRE CONGRUENT
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